Advanced Algebra





            Name___________________

1.3 Worksheet




              
Date _________ Pd _____

Solve each equation.  Graph the solution on a number line.
1.  
[image: image1.emf]


7w+ 2 = 3w+ 94










7w

+

2

=

3w

+

94




2.  
[image: image2.emf]


15− g = 23− 2g










15

-

g

=

23

-

2g




3.  
[image: image3.emf]


43−3d = d + 9










43

-

3d

=

d

+

9


4.  
[image: image4.emf]


5y+1.8 = 4y−3.2










5y

+

1.8

=

4y

-

3.2




5.  
[image: image5.emf]


6a− 5= 4a+ 2










6a

-

5

=

4a

+

2




6.  
[image: image6.emf]


7y+ 4 = 3− 2y










7y

+

4

=

3

-

2y


7.  
[image: image7.emf]


5c− 9 = 8− 2c










5c

-

9

=

8

-

2c




8.  
[image: image8.emf]


4y−8− 2y+ 5= 0










4y

-

8

-

2y

+

5

=

0




9.  
[image: image9.emf]


6(n− 4) = 3n










6(n

-

4)

=

3n


10.  
[image: image10.emf]


2−3(x + 4) = 8










2

-

3(x

+

4)

=

8




11.  
[image: image11.emf]


5(2− g) = 0










5(2

-

g)

=

0




12.  
[image: image12.emf]


2(x + 4) = 8










2(x

+

4)

=

8


13.  
[image: image13.emf]


6(t − 2) = 2(9t − 2)










6(t

-

2)

=

2(9t

-

2)





14.  
[image: image14.emf]


4w− 2(1−w) = −38










4w

-

2(1

-

w)

=-

38


15.  
[image: image15.emf]


4(k + 5) = 2(9k − 4)










4(k

+

5)

=

2(9k

-

4)





16.  
[image: image16.emf]


10(1− 2y) = −5(2y−1)










10(1

-

2y)

=-

5(2y

-

1)


Solve each formula for the indicated variable.

17.  
[image: image17.emf]


A = 1
2
bh,  for h










A

=

1

2

bh

, for 

h




18.  
[image: image18.emf]


s = 1
2
gt2,  for g










s

=

1

2

gt2

, for g




19.  
[image: image19.emf]


V = lwh,  for w










V

=

lwh, for w


20.  
[image: image20.emf]


I = prt,  for r










I

=

prt, for r




21.  
[image: image21.emf]


S = 2πrh,  for r










S

=

2

p

rh, for r




22.  
[image: image22.emf]


V = πr2h,  for h










V

=p

r2h

, for 

h


23.  
[image: image23.emf]


R(r1 + r2 ) = r1r2,  for R










R(r

1

+

r

2

)

=

r

1

r

2

, for R





24.  
[image: image24.emf]


R(r1 + r2 ) = r1r2,  for r2










R(r

1

+

r

2

)

=

r

1

r

2

, for r

2


25.  
[image: image25.emf]


S = 2πr2 + 2πrh,  for h










S

=

2

p

r2

+

2

p

rh

, for 

h





26.  
[image: image26.emf]


h = vt − 5t2,  for v










h

=

vt

-

5

t2

, for 

v




27.  
[image: image27.emf]


v = s2 +
1
2
sh,  for h










v

=

s2

+

1

2

sh

, for 

h





28.  
[image: image28.emf]


A = 1
2
h b1 + b2( ),  for b2










A

=

1

2

hb

1

+

b

2

( )

, for 

b

2
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